M

o), X[ 7| (=LA
(UL, HIFEX(ZEROIE

2|
), (HHZS-2Lj AL DETHR -2 AN

— =

Il Al CF II
. - — -
YA | D E |AIREE| 2 E
2
(=) ol
Ol 2t 2016 7 @ 162 ~7 8 22¢ = £(7/22)
2 3t(7/18) 2=(7/19) £(7/20) =(7/21)
<.%(7/16) 2(7/17) — AFHF /Ol OF = IFIHF/@O#;&
Xt HE /G| OF== I"-T'—H"/O:'Ot%:' E"I'Tﬂ/%q%k:’? S R=VACRS iy H=H/ S o
Xt HE/ OOk Trogh/gok= Mo/ 33 HEHE/S o Xt = 2 x| e
AR B PRy c37l0joR | sezxEma | gzolHy3 +2%/9
237|2 2l A2 oot | anames | orancfd | LEEE e
ceExa NS0 ExE =maAFE =O0MF=5 PN I=E SHHLILE
- TTI O o _ AX| LD 7HX|LES =R RS =S
ore ERIERS AEHUE | HESYstRey s7UE Jmue o es S
= =
O|X| 2 &l QEXEH 20|X| 74 AN e = 7|2l Z7| 2K
QO|X|ZA . 27| 215 =7 2K Z7| 2K I UK =
- it 7 4L O
=185 s ¥eE | aweYE | DIwEeE | ESudeE | gawes
= AFDHb /Gl OF = FESTTYISLY: S N=VASR- HTH/S5S8 =
YRY/EYS SHE/SoS e 22 7% R20/dT | HXEERW SEIO o=
=Y R=R P! A 20| 2l AH2 AN BRERE SL=4X= T o ot =2ty
TTT1LEOo =22 [ i - o % —_|IL|U|'59 L'I-Xlol:XH%% %FEH_C'?LI'EEI o=
2o E} 20T HASES sl=s1™ M ELDY TIOE B CH 2 CELSAFEEA OtAtO| &2
Ea o = H X2l /MR X2 =2l 2| T o[xi =3 B FOTT T o
H A OFxi =2 TTAaE/OT o = Op AL A B molaLte QFALE A & HUH=Z2ZE0|
AL2EEO | 20/guRd Hziel S a2l popiith 27| 2% =727
= 7|7 77| 2% =ZJ|UX| / =74/ 22 =
;‘t7| Dxl = — R|2**/x|'9| M= EAE H X
= E 1 T —
24 2H e 100 e YIS TETTTTES FETTETTES
YIS AbDHE/OlOFZ I TYIs T ES e E/SS= HSH/SS
X+ Hb /O OF 2= T/ des B e/ S8 B Xt eI
HHE/ S5 LK INEPNEE = HEE R ZHEE= o=
=) Loy NS ooz ERNEERS: =T 5 i
o LI'EO [==] L O _ a1 | Ho oL 7|_XI_D|_I?__7|Q_EEI —_'?;O-IXH%HE:I'%E _I_E_I_jl
CH &z EZANXA FopA 2t e [Ty QoD OFH{ 2= M /A0 A
I 12 OjLi2 =/ oo
ISR X| 72| A 2 X L= NA=LiE |Lhe|2H oIl D1 A1 QEX| =X QO|X| 2 &l
PI=ES| QEX| DX 2 S IPNE=FS NN =NEES
I EIp{ =P AP =S =AMT o A _ o 7|21k
|_|_|:| A IT T — 7|I ijl |
A~ =517 Z7|UXK| Z7|4X] 2PN o
7| Y] 7| YA =714 = =1 1 860Koal
ca
o1 2t o2t 1,868kcal =2 1,871kcal A1,
22 | o2r1,901kcal | =% 1,875cal | 2 1,880kcal | ZZ¥ 1,890kcal | =Y —_L
2M - T ~ g & : 240~3009
9 MBS AEO 2 HEE & USUCHL(=QBEISLAT - 2 1 1,600~2,000kcal & E
C
& RLX| HA| ADT|(FLHL

1 50~70g XIZ& : 30~509)
7\(@ U, THTEIAIOh, TS 0f(i=290]), ZXI(HUIZ), ZHRtDI@2), YX|(E 24

e A2 2| D)







